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QUESTION 1

The exhibit below illustrates signaling messages exchanged during a 5GS to EPS Handover procedure using N26.
Which information is NOT provided to AMF in step 6 for a PDU session that supports interworking?

Source Target AME SMF+ UPF+

UE gNB eNodeB PGW-C PGW-U

1. Handover Decision

2. Handover Required

(target eNodeB, list of bearers,
direct forwarding path availability)

4. Nsmf_PDUSession_Context Request

5. N4 Session Modification
Repeat for each

PDU session with
associated bearer

1D(s) 6. Nsmf PDUSession_Context Response

A. PGW-U indirect data forwarding tunnel info for the corresponding PDN connection
B. PGW-C S5-C tunnel info for the corresponding PDN connection

C. PGW-U S5-U tunnel info for each EPS bearer

D. EPS bearer ID and QoS parameters for each EPS bearer

Correct Answer: D

QUESTION 2

Which of the following statements regarding cloud RAN architecture is FALSE?

A. The gNB is split into three functional modules: a radio unit (RU), a distributed unit (DU), and a centralized unit (CU).
B. DU performs the non-real time processing of layer 2.

C. The fronthaul segment connects RU to DU and the midhaul segment connects DU to CU.

D. CU can be deployed in the cloud as a VNF.

Correct Answer: D

Reference: https://www.5gtechnologyworld.com/open-ran-functional-splits-explained/
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QUESTION 3

A UE is handed off from gNB1 to gNB2 using an N2-based handover procedure. The source I-UPF is to be relocated
and an indirect data forwarding path is to be used. Which of the following statements is TRUE?

A. AMF decides that an in indirect data forwarding path is required and sends an indication to SMF.

B. gNB2 tunnel info is allocated for the indirect forwarding path and is included in the Handover Request Ack message
sent to AMF.

C. Target I-UPF tunnel info is allocated for the indirect forwarding path and is provided to the UPF PSA.
D. UPF PSA tunnel info is allocated for the indirect forwarding path and is provided to the source I-UPF.

Correct Answer: A

QUESTION 4
Which of the following statements about the protection of service-based interfaces (SBIs) is FALSE?

A. The transport layer security (TLS) performs certification-based authentication, providing connection security between
network functions within a PLMN.

B. The OAuth 2.0 framework is used to secure the communication between network functions within a PLMN at the
network layer.

C. The network domain security/Internet protocol (NDS/IP) provides confidentiality and data integrity between network
functions within a PLMN.

D. The security edge protection proxy (SEPP) handles the security of inter-domain SBIs and protects the interaction
between network functions in different PLMNSs.

Correct Answer: D

Reference: https://www.broadforward.com/security-edge-protection-proxy/

QUESTION 5

Which of the following elements is NOT used in the 5G non-standalone (NSA) deployment Option 3?
A. Evolved Packet Core

B. ng-eNB

C.gNB

D. Dual Radio UE

Correct Answer: A

Reference: https://www.gsma.com/futurenetworks/wiki/5g-implementation-guidelines/
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